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Q)
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3)

8)

4)
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5)

(90) Thfds=

IR GRTTERROT STFOr IgTERor
AT SR STfor IRT
q) ARG GITHRUT VT SETER0Y
ORI fOharor T gu ... 92 APG dffeur feRia e,
) 93%% R) 9’80 3) 9%%3 8) AR¢
Angiosperm Phylogeny Group developed APG classificationin ......
1) 1996 2) 1997 3) 1993 4) 1998
DT SIS e,
9) AT —oiaedt ?) Ui aRep
3) FrOIRIC-FgRIgE! ¥) Tl — STt
Find the wrong pair.
1) Labiatae - Lamiaceae 2) Palmae - Arecaceae
3) Compositae - Clusiaceae 4) Umbelliferaec — Apiaceae
foret a1 pesThier amg
q) AR ?) smferarRf 3) Afigas ¥) ARICH!

Litchi belongs to the family

1) Moraceae 2) Bromeliaceae 3) Sapindaceae 4) Myrtaceae

T monoecious FEUTA gl

q) TR T A1G Pol HATedT FEIhaR AT

R) W Pellilel R & HiGH HAT

3) R g AIG Gl Thrd ISR ST AT

¥) e

The plant is called monoecious when

1) Male and female flowers on different plants
2) Male and female parts in the same flower

3) Male and female flowers are born on same plant
4) Staminate

TS TPRUMHE “fhehRT’ 8T TC Wictleld<hl PIuTeaT RTHed Jar 7

) FARTBRICT ) IRIBRICT 3) REMhRIeT ¥) EIShRIeT

'Chaetophorales' group belong to which of the algal class ?

1) Chlorophyta 2) Charophyta 3) Cyanophyta 4) Rhodophyta
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9)

7)

8)

915 e g ATl RSHTAT SIS Tl

dares Te g

31) FARIERR i) FARIA T ff
§) fohanr) i) ®RIPERRA
®) TSR iii) TIPS
3) PRI iv) HRIPIERRRIE
g IR :

¥ 9 P S
9 i i v il
=) I SR 1 R VR
3) i v i i

8) v i i i
Match the algae group and their pigments.

Algae group Pigments
a) Chlorophyceae 1) Chlorophyll aand b
b) Phaeophyceae i1) Phycoerythrin
c¢) Rhodophyceae 111) Fucoxanthin
d) Crysophyceae 1v) Phycocrysin

Answer options :
a b ¢ d

) 1 1 vl
2) 1 m 1w
3) i v i 11

4) v o1 i

TRfgra emmed fafdre faraTwRia Faffed sraeican 3Mfor <1 ST SR PIde! 7 JCBUI=AT FSTTT T

NIRRT G CIC T
9) Terfiem R) grTdt 3) foesft ) femeR
Species that are confined to a particular habitat in a protected area and not found anywhere else
except that area are known as species.
1) endemic 2) elusive 3) exotic 4) nocturnal
e feeR R
37) AR TRelel §) SET WR™AMT &) Sesbaniarostrata ) GRTITAIT s
TAAIRT PIOTT NITh T 3R ?
9) %h 31 ?) ¥ Beh 3) 31, FIAMTPH Beh  8) 31, &, B IMI S
Consider the plants

a) Sesbaniaaculeata  b) Sesbania speciosa c¢) Sesbaniarostrata  d) Pongamia glabra
Which of the above are leguminous plants ?
1) aonly 2) bonly 3)a,band conly 4)a,b,candd
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R)

9)

90)

10)

99)

1)

GTefietdh! PIURh i C, Fegelt 3Mmed ?

) A R) SRt 3) Har 8) et |
Among the following, which crops is/are C,, plants ?
1) Sugarcane 2) Sorghum 3) Maize 4) All of the above

C, IRYIHE, BIEPISHITURIoD IS DElTeAsHR DT SHATGIES MO T AH

foRITERATIATST WU ST SMTCHIITT 37TR. I —

a) C, TRUAAES C, grIU U8l SR TehleRIZe3Nl &R SRl

b) C, #1S g5bles HRIED 3MTec 3R Fecel Sl PR o Jlefiedred] JudRalel qwdlel Filel AIGUaRT
H&H I[ATT

¢) C, geiucil 3fefep o HepTeRiZe3Tul Seilel

d) BEI C, IOl PR S HAaATSSd TN 900 UTHTTH SFRATHTE! HPIRIST0T By 2AhIITel.

RITUDT U fIer= sRIsR 318/ 31ed ?

9) %eh a R) a 31 b wh 3) a, b 37T ¢ Beh 8) 9 a, b, ¢ 3mfor d

In C, plants, phosphoenolpyruvic acid carboxylase has very high affinity for carbon dioxide and

high potential activity. Therefore

a) C, plants have higher photosynthetic rate than C, plants

b) C, plants are said to be drought resistant as they are able to grow better even under moisture
stress

¢) C plants translocate photosynthates more rapidly

d) Some C, plants can photosynthesize even when carbon dioxide concentration is 100 ppm

Which of the above statement/s is/are correct ?
1) a only 2)aand b only 3)a,band conly 4)Alla,b,candd

GTeieTeh! pIurd fae /faum sRIe” 3iig / 3red ?

31) AT — 3R AR—IDbsH T 3TR. ) JRF — 3SR DI Te 3TR.
F) AT — IR o] I IR. ) YTl — 33 NSRRI ALY 3TTR.
g S :

9) fau™ § SRR 3R Q) faum™ a1 3nfor & sRIeR 3MmRd

3) faum™ 31 IMfor § SRR 3R ¥) faum & I1for © sRIsR 3mRd
Which of the following statement (s) is/are true ?

a) Zamia belongs to order Cycadales. b) Pinus belongs to order Coniferales.
c¢) Taxus belongs to order Gnetales. d) Thuja belongs to order Pteridospermales.
Answer options :

1) Statement d is correct 2) Statements a and c are correct

3) Statements a and b are correct 4) Statements ¢ and d are correct
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93) T T ARG IRV SATST e,

12)

)

1)

)

2)

3)

3)

R e ISTERU

a) are i) AR

b) SRHRICT i) TRIIafeTT

¢) Remprer iii) RN

d) SFFTEST iv) FARESEAE

gt SR :

1) (@)-(1), (b)-(ii), (¢)-(iii), (d)-(iv) R) (@)-(iD), (b)-(iv), (¢)-(1), (d)-(iii)

3) (a)-(iv), (b)-(iii), (c)-(i), (d)-() 8) (a)-(ii), (b)-(1), (¢)-(iv), (d)-(ii)

Match the correct example of plant group.

Plant Group Example

a) Algae 1) Cycas

b) Bryophyte 11) Lycopodium

c¢) Pteridophyte i11) Funaria

d) Gymnosperm iv) Chlamydomonas

Answer options :

1) (a)-(1), (b)-(i1), (¢)-(iii), (d)-(iv) 2) (a)~(ii), (b)-(1v), (c)~(1), (d)-(ii1)

3) (a)-(iv), (b)-(ii1), (¢)-(i1);(d)-(1) 4) (a)-(iid), (b)-(1), (¢)-(iv), (d)-(ii)
R) TS SRS SAIfOr I

AR RO ... U, SHoredl QR TehTeRIINUNE dToRedl ST,

) W% ) AU 3) 3% 8) 3%%

A portion of solar radiation, up to ......... in terms of energy is used in photosynthesis.

1) 24% 2) 28% 3) 32% 4) 36%

ThTT FIATUHEY UhIMER IMURIT Ufchaa Hgw BRI Pl 31T ?

9) NADH, @ ATP < HUTcR 01 ) NADPH g ATP =1 SWIN R0l
3) NADPH g ATP =t Fif#cft e=ur g) aRiet d

What is the principal function of the light-dependent reactions of photosynthesis ?
1) To transfer the NADH and ATP 2) To utilize the NADPH and ATP
3) To generate the NADPH and ATP 4) All of the above

TRYGR TeDIARIATUNGR Hfod BIEHE Sfebre~iep CO ° HUCR PRUGTT ST HLcile gevareit Tfzpa

3R,
9) PBET hfec Q) UPIRIISTT
3) @ ¥) BIE STH RO

1s the process of transformation of inorganic CO, through photosynthesis by plants into organic

carbon and sink in soils.
1) Carbon credit 2) Photosynthesis
3) Respiration 4) Carbon sequestration

e § 9 7T & QEURISITS! SUYwh UTHIg : WM s / 3¢



q) AR R) PPl 3) fegm 8) RIS
4)  Gelatinous Seed Coat is presentin.................
1) Loranthus 2) Cuscuta 3) Striga 4) Orobanche

4)  WlelleTddh! P a1 e siifaa fehamemermaieft Taet erar 3mfdr gedaT aedl ?

9) TIBA Q) 2.,4-D 3) Tryptophan g) IPA
5)  Which one of the following growth regulator compete and interfere with auxin activity ?
1) TIBA 2)2,4-D 3) Tryptophan (4)IPA

§&)  UBIIRIISYUT g fafaer amfdht purcar amieh qioft arR erismar B R ?

9) C, aRe ?) C, gl 3) CAM ==yt Q) Rl T4
6)  Which of the different pathway of photosynthesis plants have lower water use efficiency ?
1) C, plants 2) C,, plants 3) CAM plants 4) All of the above

©) 9 I UeiHeY Wiefiettdht PIurd 3Mgesd el ?

9) Hedh At Q) HEI FRAA 3) e Q) ey
7)  Which of the following is not found in cells of all plants ?
) Rigid cell wall 2) Central vacuole 3) Plastids 4) Centrosomes

¢) YR 3feifiler ugd IMed fI9TTel oTe

a) TCH BHich b) Sofeiedn e c) &= d) Rhizomes

gl SR

9) %h a ) a, b el ¢ 3) a,b, c amfir d %) a, b 3mfor d
8) The asexual method of propagation is divided into :

a) Stem cutting b) Rooted slips c) Seeds d) Rhizomes

Answer options :

1) aonly 2)a,bandc 3)a,b,candd 4)a,bandd
Q) . Tl HichIeh AHCHISS FeU DM PN,

9) PEHe ) ITEIRNRAE  3) 3INHI%Rhe ¥) a¥eT |qd
9) Pesticidesof ................ group act as nematicides.

1) Carbamate 2) Isothiocyanate 3) Organophosphate  4) All of the above

90) HREE CO 3fid dhichid dleciel o, Foariredl g ARmEmed ST afel 31g, A&l
UM deeied] (. ..........
9) TIHIIRILATOT ?) FARIfthe 3) o Q) CRIffeRRISST

10) Increased insect damage under elevated CO, has been observed in early season Soyabean, possibly
due to increased concentrations of in the leaves.
1) photosynthates 2) chlorophyll 3) sugars 4) triglycerides
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1)

I?)

12)

3)

13)

9%)

14)

94)

15)

%)

16)

q) TR R) We =gl 3) @ficfeeg grar  ¥) deeligs =gerell

Chlamydospores are formed from cells of ..........

1) Sporangia 2) Parent nuclei 3) Vegetative hypha  4) Haploid nuclei
TRIGAMITR gR dT0Rel SR 3fifde I Al

9) IrcPIEA Q) AFAFT 3) IfifrRT ) RIINC

The inorganic energy source used by Nitrosomonas :

1) Alcohol 2) Succinate 3) Annonia 4) Fumarate

EIFHTT Tcohredl HioRIeId STSME JURIHR, Fol, THhesRUNT SIS Tl g Sqersret
ATOREAT STTOTRT G oo 3TTe.

q) STt R) ATt 3) Sreiioft 8) BIRw

The term used to refer to the seasonal changes in the development of foliage, flowering, fruiting,
etc. in trees in response to climatic factors is ................

1) Genology 2) Phenology 3) Ecology 4) Forestry

9RER HEY Ul FIUIh Rigete URIT HIVT 0 I TEFRIGR TR HRUITd 3T 2

q) YSHIFAT IR SRRT J0RT SR R) THCI STIfYT FeTATell FTaes AURT I

3) el T gercarT IfRT BIUIRT Uiy 8) ST TR Tt

On which plant disease epidemics the first computer simulation programme was prepared in
1969 ?

1) Late leaf spot of groundnut 2) Early blight of tomato and potato

3) Late blight of tomato and potato 4) Early ieaf spot of groundnut

Gl g I g T BRBoNT ATl T el o,

CERLiAD| PRE Sig
q) forganffa PHax FFaEN R
Q) TEERIeT TTSRT afeafrr IR o
3) ORI IR TRPIURT R T

8) ST A ol MM PIfTCICRIGY BhodheH

Identify the wrong pair of plant disease and it’s causal organism.

Plant disease Causal Organism

1) Citrus canker Xanthomonas citri

2) Rust of Wheat Puccinia graminis tritici
3) Ergot of bajra Cercospora Personata

4) Red rot of sugarcane Colletotrichum fulcatum

HIATERIA WRT 8T I PIURAT FEHUIND TCHIeAT PHRTIS gl 2

9) PR Q) ARRHA 3) ferp 8) Hifcles T
Khaira disease of rice is developed due to the deficiency of which micronutrient ?
1) Copper 2) Sodium 3) Zinc 4) Molybdenum
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